03093_G WNH XA FEWELEBRETE , TEREBHEKILF

7= miiEA

ME
W
TREHTE(LALER -
BMEER 5.8,

TEHEM
TRESRE{LAL TR,
1B ER 1.4305,
T4 1.4034,

TN REELLLE
IRYER 1.4305,

Ti4H 1.4305,
RIRERBEUBEYEREKIEF,

I
W
MA@, MM BEEALE,

TEHW :
L TEL, MANBEELE, TERZEL, HAEMBRE L
H,

B
PEHEATEEIH4MEMNEMNERES ., RENREKREETERTE
g,

TEMEFARSFERERFA. SEBHELTHEXNNIGE , BI85
HBRWER

REFEXR :
BRER,

M -
[EIBEEH 03089

© norelem www.norelem.com



03093_G WNH A FEWME LEBPREE | TERBLHEKILF

L2

!
A

e
L

L1

D -0,02

-0,04
|
03093-1903 G | W | & {LALE | 3 M6x0,75 |14 | 315 (17| 11 |35 0,8 4,5 10 03094-99
03093-1004 G | WHl | E{LALE | 4 M8x1 18| 38,5 (21| 135 | 4 1,3 6 12 03094-90
03093-1105 G | WHl | 2W{LALE | 5 M10x1 211435 (24| 145 | 5 1,3 5 12 03094-91
03093-1206 G | WHl | &W{LALE | 6 M12x1,5 | 25| 51,7 |28| 17,7 | 6 1,8 6 14 03094-92
03093-1308 G | WHl | &E{LALE | 8 M16x1,5 |33 | 68 |36, 24 8 2,3 15 35 03094-93
03093-1410 G | W&l | &£mELL¥E 10| M20x1,5 33| 74 [40| 24 | 10 2,8 15 34 03094-94
03093-1412 G | Wbl | ZELLE |12] M20x1,5 |33 | 78 [42| 24 | 12 2,8 15 39 03094-94
03093-1516 G | Wil | AFE{LALE |16 M24x2 40| 96 (50| 30 | 16 3,2 20 46 03094-95
03093-01903 G | T8N | fB{LALE | 3 M6x0,75 |14 | 315 (17| 11 |35 0,8 4,5 10 03094-99
03093-01004 G | T8N 2F{Li2 | 4 M8x1 18| 38,5 (21| 135 | 4 1,3 6 12 03094-90

© norelem www.norelem.com



03093_G WNH XA FEWELEBRETE , TEREBHEKILF

03093-01105 G | T8N &B{LiE | 5 M10x1 211435 (24| 145 | 5 1,3 5 12 03094-91
03093-01206 G | T8N | K{LALE | 6 M12x1,5 | 25| 51,7 |28| 17,7 | 6 1,8 6 14 03094-92
03093-01308 G |THW| KB L2 | 8 M16x1,5 |33 | 68 |36| 24 8 2,3 15 35 03094-93
03093-01410 G |78 £ELLE 10| M20x1,5 |33| 74 [40| 24 | 10 2,8 15 34 03094-94
03093-01412 G | 7MW £KBELLE |12] M20x1,5 |33 | 78 [42| 24 | 12 2,8 15 39 03094-94
03093-01516 G || £FELLLE |16 M24x2 40| 96 (50| 30 | 16 3,2 20 46 03094-95
03093-11903 G | T8M| RELAE | 3 M6x0,75 |14 | 315 (17| 11 |35 0,8 4,5 10 03094-99
03093-11004 G | 5N | RELLLE | 4 M8x1 18385 (21| 135 | 4 1,3 6 12 03094-90
03093-11105 G |THW| RELAE | 5 M10x1 211435 (24| 145 | 5 1,3 5 12 03094-91
03093-11206 G |[T8W| RELAE | 6 M12x1,5 | 25| 51,7 |28| 17,7 | 6 1,8 6 14 03094-92
03093-11308 G | 5N | RE{LALE | 8 M16x1,5 |33 | 68 |36| 24 8 2,3 15 35 03094-93
03093-11410 G | %W | RE{LAE 10| M20x1,5 |33| 74 [40| 24 | 10 2,8 15 34 03094-94
03093-11412 G |THW| RELLE |12] M20x1,5 |33 | 78 [42| 24 | 12 2,8 15 39 03094-94
03093-11516 G | T8N | RELLE |16 M24x2 40| 96 |50| 30 | 16 3,2 20 46 03094-95

© norelem www.norelem.com



